Gone with one (Ein) stone (stein)

The mathematical proof of Einstein and Alfred Nobel Physicists are all wrong
Real time physics Γ = t ℮ ỉ θ in real time space S = r ℮ ỉ θ; θ = arc tan (v/c)
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Greetings: Here is I Joe Nahhas October 2009 showing my October 1979 telling Einstein my July 1973 discovery in front of notable physicists:  
 The elimination of Einstein’s and Alfred Nobel Physicists relativity theory and quantum mechanics from classrooms and scientific calculations is a matter of time and not a matter of science and the time is yesterday 1900.   

Abstract: Listening to Alfred Nobel Prize winner physicist is stupidity itself. 

 The proof in real time: 
We can not see or measure something that did not happen. We can only see or measure something that had happened. What we measure is not what happened. We can see or measure something in present time that had happened in past time.

Present time = present time

Present time = past time + [present time - past time]

Present time = past time + time delays

Real time = event time + time delays 

Γ = t + (Γ – t) = t [1 + (Γ – t)/t]  
The definition of a visual Illusion time delay is 

Γ/t = cosine θ + ỉ sine θ = ℮ ỉ θ; θ = arc tan (v/c)

With v = relative velocity and c = velocity of light.  
Real time Γ = t ℮ ỉ θ; and S = c Γ = c t ℮ ỉ θ= r ℮ ỉ θ 

And Real space S = r ℮ ỉ θ

Γ = Γ (x) + ỉ Γ (y) = t ℮ ỉ θ = t [cosine θ + ỉ sine θ]

Γ (x) = t cosine θ = t [1 - 2 sine² (θ/2)]

Γ (x) - t = - 2 t sin² {[arc tan (v/c)]/2}

Δ Γ = - 2 t sin² {[arc tan (v/c)]/2}

Δ Γ = - 2 x 365 26 x 24 x 3600 sine ² {[arc tan [(v +/- v*)/c]/2} sec/ century

Δ Γ = - 2 x 15 x 365 26 x 24 x 3600 sine ² {[arc tan [(v +/- v*)/c] /2} arc sec/century

Astrophysicists use 1/2 period and 1 period in their astronomical and they get two different answers for the same thing like in the most famous case in astrophysics. Many cases can be found like that two Astrophysicists give an answer and one double the other's answer like in the most famous case in astronomy and that would be Dr Guinan of Villanova University with DI Herculis apsidal motion of 0.65° 1985 and DR Martynov of 1.3° in 2008.  

Earth orbital velocity is 29.8 km/sec

Mercury’s orbital velocity is 47.9 km/sec

Venus orbital velocity is 35.1km/sec

DI Herculis is 103.5 km/sec

	Planet
	Distance r

X 106km
	Planet

Orbit T
	Orbit speed v in km/sec
	Less Earth speed
	Spin speed

km/sec
	Angular velocity; v/r 

arc sec/ century

	Mercury
	58.2
	88
	47.9
	18.1
	.002
	70.29

	Venus
	108.2
	224.7
	35.05
	5.7
	6.52
	10.86

	Earth
	149.6
	365.26
	29.8
	
	.46511
	4.1

	Mars
	227.936
	687
	24.14
	
	0.2411
	

	Jupiter
	778.412
	4333
	13.06
	
	12.6
	

	Saturn
	1,426.725
	10760
	9.65
	
	9.87
	

	Uranus
	2,870.97
	30690
	6.80
	
	2.59
	

	Neptune
	4,498
	60180
	5.43
	
	2.68
	

	Pluto
	5906.4
	90730
	4.74
	
	
	


In case of mercury they use 1/2 cycle or use Venus orbit to calculate Mercury orbit because Mercury is closer to the sun and disappears more than Venus and Venus is a bright planet that looks like a star.

 In the original calculation of 1859 astronomers used 1/2 cycle because of the proximity of Mercury to the SUN

And Δ Γ = - 15x 365 26 x 23.933333 x 3600 sine ² {[arc tan [(v - v*)/c]/2} arc sec/century

With v = 47.9 km/sec and v* = 29.8

Δ Γ = - 15 x 365 26 x 23.933333 x 3600 
Sine ² {arc tan [(47.9 - 29.8)/c]/2} arc sec/century

       = 43.0 arc second per century

Then they later came and used Venus as reference for measuring and used full cycle because Venus look like a morning star and can be seen better  

If t = 100 years and v = Orbital velocity of Mercury - Orbital velocity of Venus

Δ Γ = - 2 x 365 26 x 23.933333 x 3600 sine ² [arc tan (47.9 - 35.1/300,000)/2] sec

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² {[arc tan (47.9 - 35.1/300,000)]/2}

       = 43.0 arc per century for mercury.

Venus is bright like a star and it is used to calculate Mercury's orbit. 

If t = 100 years and v = Orbital velocity of Venus - Orbital velocity of Earth

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² {[arc tan (35.1 - 29.8/300,000)]/2}

      = 8.3 arc sec per century for Venus

Earth motion is used to calculate Venus' orbit. 

This same formula applies to stars

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² {arc tan [(v - v*)/c]/2} arc sec/century

DI Herculis

It all came from this equation and sometimes 1/2 the period 

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ²{{arc tan [(v - v*)/c]}/2} arc sec/century

V* (p) = √ [GM²/ (m + M) a] = 96.84 km/sec  

V* (s) = √ [Gm²/ (m + M) a] = 110.34km/sec

With v = [V* (p) + V* (s)]/2 = [96.84 + 110.34]/2 =103.5887398km/sec

And v + v* = 103.5887398 + 29.8 = 133.3887398

Δ Γ = - 2 x 15 x 365 26 x 23.933333 x 3600 sine ² {arc tan [(v - v*)/c]/2} arc sec/century

Δ Γ = - 2 x 15 x 365 26 x 24 x 3600 sine ² {arc tan [(133.39)/300,000]/2} 

Δ Γ = - 2x15 x 365 26 x 24 sine ² {arc tan [(133.39)/300,000]/2} arc sec/century

      = 1.3° arc sec/century

In the 1/2 period method 

Δ Γ = - 15 x 365 26 x 24 x 3600 sine ² {arc tan [(v - v*)/c]/2} arc sec/century

Δ Γ (degrees) = - 15 x 365 26 x 24 sine ² {arc tan [(v - v*)/c]/2} arc sec/century

                       = 1.3 °/2 = 0.65°

In the new Harvard fraud they changed the spin of the stars values from [45, 45] to [108, 116] a change of 8 km/sec

Since idiots are idiots looking at a star spin for 110 years history and 40 years of “research articles and have 250 % wrong measurements and cat not tell the difference between a moving star motion and a spinning star motion there would be an 8 km/sec differences that is 133.39 + 8 = 141.39 km/sec    

Δ Γ = - 2x15 x 365 26 x 24 sine ² {arc tan [(141.39)/300,000]/2} arc sec/century = 1.459 ° arc sec/century

The new numbers from 1985 to 2010 are 0.65º degrees / century to 1.454º degrees /century
Go to SAO/NASA: Type apsidal motion of DI Herculis 

Real time = event time + time delays 

What this equation said? It said you can 

Outsmart Einstein and NASA in elementary school
A mistake is done by a French mathematician Le Verrier in his calculations of Mercury's orbit and his claim that Newtonian mechanics can not explain Mercury's angular velocity.   


[image: image1]
If Planet mercury, m, angular orbital speed is to be measured from the Sun, S, then planet mercury angular orbital speed is θ’ (m) = v (m)/ r (m)

Where v (m) = orbital velocity of mercury = 47.9 kilometer/sec

And r (m) = Mercury – Sun distance = 58,200,000 kilometers

If Planet mercury, m, angular orbital speed is to be measured from Earth, e, then planet mercury orbital speed is θ’ (m) = [v (m) + V (e)]/ r (m)

V (e) = [orbital velocity of Earth – spin speed of earth] = 29.8 – 0.465 = 29.335km/sec 
The mistake is: V (e)/ r (m) in radians per period 

This mistake is: [V (e)/ r (m)] (180/π) in degree per period 
This mistake is: [V (e)/ r (m)] (180/π) [36526/T] in degree per century

This mistake is: [V (e)/ r (m)] (180/π) [36526/T] [3600] arc sec per century
For planet Mercury: W (arc – sec/century) = [(29.335km/sec)/ (58.2 x 106km)] 

                                X [(180/π) (3600) (26526/T)] 

                                = 43.0 arc second per century

This is the first and most used experimental proof of Einstein’s relativity theory!  NASA astronomers know nothing about space
Quantum stupidity is: S = r e ỉ ω t
C is constant stupidity

Relativity stupidity is T = t e ỉ ω t
Leads to special relativity stupidity E = mc²

And general relativity stupidity of light bending 
Ψ = 2 [arc tan (v/ c)] sine 2 [arc tan (v/c)] ≈ 4 (v/c) ²

1- The illusion of length contraction:

 Length contraction is just a visual effect of projected light aberration and it is an "apparent" visual effect and not real

An object located at r ---------- light sensing ----------------- measured as S = r exp [ỉ ω t]

With ω t = arc tan (v/c); tan (v/c) = light aberrations angle = ω t

S = r Exp [ỉ ω t] caused by light aberrations visual effects as follows:

Exp [ỉ ω t] = [cosine ω t + ỉ sine ω t]; From S = r Exp [ỉ ω t]

It changes to: S = r {√ [1- sine² arc tan (v/c)] - ỉ sine arc tan (v/c)}

                          = r {√ [1- (v/c) ²] - ỉ (v/c)}; v/c <<< 1

                          = S x + ỉ S y 

Where S x = √ [1- sine² arc tan (v/c)]; And S y = cosine arc tan (v/c)

With v/c << 1 then; Where S x = √ [1- sine² arc tan (v/c)]; And S y = cosine arc tan (v/c)

In absolute value S = r

Along the line of measurement:  S x = √ [1- sine² arc tan (v/c)] ≈ r √ [1-(v/c) ²]; v/c << 1  

This the equation for length contraction of Lorentz's used in Einstein's theories

But it is the light aberrations visual effects and it is "apparent and not real 

2 - Constant velocity of light leading to Time Dilations

Projected light aberrations 

Sx = r cosine ω t
Hypotenuse = S x = [c t x] = c t x √ [1- sine² arc tan (v/c)] 

                S x ≈ c t √ [1-(v/c) ²]; from constant velocity of light 
and c is constant in all reference frames
Where t = local self time; t x = time by observer 


t x = t √ [1-(v/c) ²]; and
t = {1/√ [1-(v/c) ²]} t x absolute math

These are time dilatation equations given by Einstein’s special relativity theory. 

t x' = t' √ [1-(v'/c) ²]; and
t' = {1/√ [1-(v'/c) ²]} t x' absolute math

Two observers observing the same thing the time dilations are

Then, t x = t √ [1-(v/c) ²]; t = {1/√ [1-(v/c) ²]} t x absolute math; Lab purposes

And, t x' = t √ [1-(v'/c) ²]; t' = {1/√ [1-(v'/c) ²]} t x' absolute math; Lab purposes

However; two observers looking at each other 

S (A) = r exp [ỉ ω t] 

S (B) = r exp [- ỉ ω t]

S x (A) = S x = c t x ≈ c t x' √ [1-(v/c) ²]
S x (B) = S x = c t x' ≈ c t x √ [1-(v/c) ²]

And t x ≈ t x' √ [1-(v/c) ²]
And t x' ≈ t x √ [1-(v/c) ²]
That is why there no twin Paradox except on science fictions books because it is all about aberrations and nothing real.

3 – Momentum

S x = Visual location along the line of sight = r [√ [1-(v/c) ²] 
P x = v [√ [1-(v/c) ²]; v =constant; P x = d [S x]/d t

And m P x = m v [√ [1-(v/c) ²] = m (0) v

4 – Mass Then m = m (0) / [√ [1-(v/c) ²]

Also; m = m (0) / [1-1/2(v/c) ²]

5- Energy

mc² = m (0) c² / [1-1/2(v/c) ²]

E = m (0) c²; v = 0

Also m ≈ m (0) [1+ 1/2(v/c) ²]

Hence m c² ≈ m (0) c² + m v ²/2

I am not only saying Lorentz Einstein and the 100,000 dead physicists and the 100,000 living physicists are wrong I am adding that the collective value of relativity theory special and general and all of more than three dimensions based physics is 1/2 rotten onion stinking onion.
Space – time stupidity is E = mc²
This is how E = mc²/2 ended being E = mc²

E = mc²/2 and 

E = mc² is the visual illusion of E =mc²/2

Visual E = mc ²

Proof: E (total) = T (kinetic) + U (potential) = T + [U = 0] = [T = 0] + U 

With E = T = mv²/2 = mc²/2; v = c

With r = r (0) ℮ [λ (r) + ỉ ω (r)] t
P = {[v (0) + r (0) [λ (r) + ỉ ω (r)]} ℮ [λ (r) + ỉ ω (r)] t 

With λ (r) = 0, P = [v (0) + ỉ ω (r) r (0)] ℮ ỉ ω (r) t

(P. P) = [v² (0) - ω² r² (0) + 2 ỉ ω r (0) v (0)] ℮ 2 ỉ ω (r) t

E = m (P. P)/2 = (m/2) [v² (0) - ω² r² (0) + 2 ỉ ω r (0) v (0)] ℮ 2 ỉ ω (r) t

E = (m/2) [c² - c² + 2 ỉ c²] ℮ 2 ỉ ω (r) t

With ω r (0) = c  

E = (m/2) [2 ỉ c² ℮ 2 ỉ ω (r) t]

│E│ = (m/2) │2 ỉ c² ││℮ 2 ỉ ω (r) t│
E = (m/2) (2 c²) = mc²

E = mc²

Why you want to bring back E = mc²/2 because E = mc² made fools out of the 100,000 physicists and it is wrong and for the most important reason it reversed Darwin theory. From Darwin:

Ape -> humans -> intelligent humans -> Nobel Prize winners -> dumb Ape 

In experiments we can only find 1/9 of the energy that the formulas say there is energy. Scientists are wasting their efforts for all of past century on trying to find the other 8/9 energy the formulas says they exist but we can not find.

How did that happen?

We have E = [mc²/2] and in nuclear reaction they say when mass is changed to energy then change in energy Δ E = mc² and total energy is = E + Δ E = mc²/2 + mc² = 3mc²/2 and in experiment we can only find E = mc²/2 and the other 2 [mc²/2] = 2E are missing. 

With E (total) = 3 (mc²/2) = 3 E = E (total)/3 can be found and 2E =2 E (total)/3      

Or E (total)/3 found 

And 2 E (total)/ 3 missing

Then scientists added that also (1/3) of energy that we found might have 2/3 missing too.

Then 2/3 (1/3) = 2/9 missing of energy that we found

And 2/3 = 6/9 already missing and the total missing is 6/9 + 2/9 = 8/9 missing wow! 

Wow! Let us find 8/9 missing energy and get rich and for a century western scientists are day dreaming of 8/9 dark energy missing and the rest of the world have to put up with this crap for 150 years of western scientists fraud that ended in Modern stupidity and named Modern physics

Lord Eddington most stupid title proof is this equation:

Is: θ'(θ, t) = θ' (θ, 0)] ℮ -2{[λ (m) + ỉ ω (m)] + [λ (m) + ỉ ω (r)]} t:
With λ (r) = λ (m) = 0

Then θ'(θ, t) = θ' (θ, 0)] ℮ -2ỉ [ω (m) + ω (r)] t

And with ω (m) = 0

Then θ'(θ, t) = θ' (θ, 0)] ℮ -2ỉ ω (r) t

And θ” (θ, t) = - 2 ί ω θ' (θ, 0)] ℮ -2ỉ ω (r) t

And θ” (θ, t) = - 2 ί ω θ' (θ, 0)] [cosine 2 ω t + ί sine 2 ω t]

Or, θ” (θ, t) = θ’’ (x) + ί θ”’ (y)

And θ” (x) = 2 ω θ' (θ, 0) sine 2 ω t

Or, θ” (x) = 2 ω (t /t) θ' (θ, 0) sine 2 ω t
And t [θ” (x) /θ' (θ, 0)] = 2 ω t sine 2 ω t
A measurement is ω T = arc tan (v/c)  

Light aberration bending angle is 2 [arc tan (v/ c)] sine 2 [arc tan (v/c)]
Ψ = 2 [arc tan (v/ c)] sine 2 [arc tan (v/c)]

And v = Sun surface speed = √ (GM/r) where 

 Ψ = 2 {arc tan [√ (GM/r) / c]} sine 2 {arc tan [√ (GM/r) / c]} degrees
In arc second

 Ψ = 3600 x 2 {arc tan [√ (GM/r) / c]} sine 2 {arc tan [√ (GM/r) / c]}

With c = light speed = 300,000 km/sec 

G = 6.673 x 10 -11; M = 2 x 1030 kg; r = 0.696 x 109 m

Then v = 437.89 km/sec  

Ψ = 7200 [arc tan (437.89 / 300,000)] sine 2 [arc tan (437.89/300,000)]
   = 1.757855865 arc second

All there is in the Universe is objects of mass m moving in space (x, y, z) at a location r = r (x, y, z). The state of any object in the Universe can be expressed as the product 

S = m r; State = mass x location: 
P = d S/d t = m (d r/d t) + (dm/d t) r = Total moment 

   = change of location + change of mass

  = m v + m' r; v = velocity = d r/d t; m' = mass change rate

F = d P/d t = d²S/dt² = Total force

   = m (d²r/dt²) +2(dm/d t) (d r/d t) + (d²m/dt²) r
   = m γ + 2m'v +m" r; γ = acceleration; m'' = mass acceleration rate

In polar coordinates system

We Have r = r r (1) 
And v = r' r (1) + r θ' θ (1) 
And γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ(1)
r = location; v = velocity; γ = acceleration

F = m γ + 2m'v +m" r
F = m [(r"-rθ'²) r (1) + (2r'θ' + r θ") θ (1)] + 2m'[r' r (1) + r θ' θ (1)] + (m" r) r (1)
  = [d² (m r)/dt² - (m r) θ'²] r (1) + (1/mr) [d (m²r²θ')/d t] θ (1) 

  = [-GmM/r²] r (1)   ---------------------- Newton's Gravitational Law

Proof:

First r = r [cosine θ î + sine θ Ĵ] = r r (1)

Define r (1) = cosine θ î + sine θ Ĵ 

Define v = d r/d t = r' r (1) + r d[r (1)]/d t

              = r' r (1) + r θ'[- sine θ î + cosine θĴ]

= r' r (1) + r θ' θ (1)
Define θ (1) = -sine θ î +cosine θ Ĵ;

And with r (1) = cosine θ î + sine θ Ĵ

Then d [θ (1)]/d t= θ' [- cosine θ î - sine θ Ĵ= - θ' r (1)  
And d [r (1)]/d t = θ' [-sine θ î + cosine θ Ĵ] = θ' θ (1) 

Define γ = d [r' r (1) + r θ' θ (1)] /d t

              = r" r (1) + r'd [r (1)]/d t + r' θ' r (1) + r θ" r (1) +r θ'd [θ (1)]/d t

            γ = (r" - rθ'²) r (1) + (2r'θ' + r θ") θ (1)
With d² (m r)/dt² - (m r) θ'² = -GmM/r²   Newton's Gravitational Equation     (1)

And d (m²r²θ')/d t = 0                              Central force law                              (2)

(2): d (m²r²θ')/d t = 0 

Then m²r²θ' = constant

                   = H (0, 0) 

                   = m² (0, 0) h (0, 0); h (0, 0) = r² (0, 0) θ'(0, 0)

                   = m² (0, 0) r² (0, 0) θ'(0, 0); h (θ, 0) = [r² (θ, 0)] [θ'(θ, 0)]

                   = [m² (θ, 0)] h (θ, 0); h (θ, 0) = [r² (θ, 0)] [θ'(θ, 0)]

                   = [m² (θ, 0)] [r² (θ, 0)] [θ'(θ, 0)]

                   = [m² (θ, t)] [r² (θ, t)] [θ' (θ, t)] 

                   = [m²(θ, 0) m²(0,t)][ r²(θ,0)r²(0,t)][θ'(θ, t)] 

                   = [m²(θ, 0) m²(0,t)][ r²(θ,0)r²(0,t)][θ'(θ, 0) θ' (0, t)] 

                                                                                                                                                    With m²r²θ' = constant 

Differentiate with respect to time

Then 2mm'r²θ' + 2m²rr'θ' + m²r²θ" = 0

Divide by m²r²θ' 

Then 2 (m'/m) + 2(r'/r) + θ"/θ' = 0

This equation will have a solution 2 (m'/m) = 2[λ (m) + ì ω (m)]

And 2(r'/r) = 2[λ (r) + ì ω (r)]

And θ"/θ' = -2{λ (m) + λ (r) + ỉ [ω (m) + ω (r)]}

Then (m'/m) = [λ (m) + ì ω (m)]

Or d m/m d t = [λ (m) + ì ω (m)]

And dm/m = [λ (m) + ì ω (m)] d t

Then m = m (0) e [λ (m) + ì ω (m)] t
         m = m (0) m (0, t); m (0, t) e [λ (m) + ì ω (m)] t 

With initial spatial condition that can be taken at t = 0 anywhere then m (0) = m (θ, 0)    

And m = m (θ, 0) m (0, t) = m (θ, 0) e [λ (m) + ì ω (m)] t
And m (0, t) = e [λ (m) + ì ω (m)] t
Similarly we can get  

Also, r = r (θ, 0) r (0, t) = r (θ, 0) e [λ (r) + ì ω (r)] t
With r (0, t) = e [λ (r) + ì ω (r)] t
Then θ'(θ, t) = {H(0, 0)/[m²(θ,0) r(θ,0)]}e-2{[λ(m) + λ(r)] + ì [ω(m) + ω(r)]}t And θ'(θ, t) = θ' (θ, 0)] e-2{[λ (m) + λ(r)] + ì [ω (m) + ω (r)]} t ------I

And, θ'(θ, t) = θ' (θ, 0) θ' (0, t)

And θ' (0, t) = e-2{[λ (m) + λ (r)] + ì [ω (m) + ω(r)]} t 

Also θ'(θ, 0) = H (0, 0)/ m² (θ, 0) r² (θ, 0)

And θ'(0, 0) = {H (0, 0)/ [m² (0, 0) r (0, 0)]}

With (1): d² (m r)/dt² - (m r) θ'² = -GmM/r² = -Gm³M/m²r²

And      d² (m r)/dt² - (m r) θ'² = -Gm³ (θ, 0) m³ (0, t) M/ (m²r²)     

Let m r =1/u

Then d (m r)/d t = -u'/u² = - (1/u²) (θ') d u/d θ 
                        = (- θ'/u²) d u/d θ = -H d u/d θ

And d² (m r)/dt² = -Hθ'd²u/dθ² = - Hu² [d²u/dθ²]

And -Hu² [d²u/dθ²] - (1/u) (Hu²)² = -Gm³ (θ, 0) m³ (0, t) Mu²

[d²u/ dθ²] + u = Gm³ (θ, 0) m³ (0, t) M/ H²

t = 0; m³ (0, 0) = 1

u = Gm³ (θ, 0) M/ H² + A cosine θ =Gm (θ, 0) M (θ, 0)/ h² (θ, 0)

And m r = 1/u = 1/ [Gm (θ, 0) M (θ, 0)/ h (θ, 0) + A cosine θ]

              = [h²/ Gm (θ, 0) M (θ, 0)]/ {1 + [Ah²/ Gm (θ, 0) M (θ, 0)] [cosine θ]}

              = [h²/Gm (θ, 0) M (θ, 0)]/ (1 + ε cosine θ)

Then m (θ, 0) r (θ, 0) = [a (1-ε²)/ (1+ ε cosine θ)] m (θ, 0)

Dividing by m (θ, 0)

Then r (θ, 0) = a (1-ε²)/ (1+ ε cosine θ)

This is Newton's Classical Equation solution of two body problem which is the equation of an ellipse of semi-major axis of length a and semi minor axis b = a √ (1 - ε²) and focus length c = ε a

And m r = m (θ, t) r (θ, t) = m (θ, 0) m (0, t) r (θ, 0) r (0, t) 

Then, r (θ, t) = [a (1-ε²)/ (1+ ε cosine θ)] e [λ (r) + ì ω (r)] t--II

 This is Newton's time dependent equation that is missed for 350 years  

If λ (m) ≈ 0 fixed mass and λ(r) ≈ 0 fixed orbit; then 
Then r (θ, t) = r (θ, 0) r (0, t) = [a (1-ε²)/ (1+ε cosine θ)] e ì ω (r) t
And m = m (θ, 0) e + ì ω (m) t = m (θ, 0) e ì ω (m) t
We Have θ'(0, 0) = h (0, 0)/r² (0, 0) = 2πab/ Ta² (1-ε) ²

                            = 2πa² [√ (1-ε²)]/T a² (1-ε) ² 

                            = 2π [√ (1-ε²)]/T (1-ε) ²   

Then θ'(0, t) = {2π [√ (1-ε²)]/ T (1-ε) ²} Exp {-2[ω (m) + ω (r)] t 

= {2π [√ (1-ε²)]/ (1-ε) ²} {cosine 2[ω (m) + ω (r)] t - ỉ sin 2[ω (m) + ω (r)] t}

                    = θ'(0, 0) {1- 2sin² [ω (m) + ω (r)] t}

                    - 2i θ'(0, 0) sin [ω (m) + ω (r)] t cosine [ω (m) + ω (r)] t  

Then θ'(0, t) = θ'(0, 0) {1 - 2sine² [ω (m) t + ω (r) t]}

                   - 2ỉ θ'(0, 0) sin [ω (m) + ω(r)] t cosine [ω (m) + ω(r)] t

Δ θ' (0, t)        = Real Δ θ' (0, t) + Imaginary Δ θ (0, t)

Real Δ θ (0, t) = θ'(0, 0) {1 - 2 sine² [ω (m) t ω(r) t]} 

Let W (cal) = Δ θ' (0, t) (observed) = Real Δ θ (0, t) - θ'(0, 0)

                  = -2θ'(0, 0) sine² [ω (m) t + ω(r) t]

                  = -2[2π [√ (1-ε²)]/T (1-ε) ²] sine² [ω (m) t + ω(r) t]

And W (cal) = -4π [√ (1-ε²)]/T (1-ε) ²] sine² [ω (m) t + ω(r) t]

If this apsidal motion is to be found as visual effects, then            

With, v ° = spin velocity; v* = orbital velocity; v°/c = tan ω (m) T°; v*/c = tan ω (r) T*

Where T° = spin period; T* = orbital period

And ω (m) T° = Inverse tan v°/c; ω (r) T*= Inverse tan v*/c

W (ob) = -4 π [√ (1-ε²)]/T (1-ε) ²] sine² [Inverse tan v°/c + Inverse tan v*/c] radians

Multiplication by 180/π 

W (ob) = (-720/T) {[√ (1-ε²)]/ (1-ε) ²} sine² {Inverse tan [v°/c + v*/c]/ [1 - v° v*/c²]} degrees and multiplication by 1 century = 36526 days and using T in days  

W° (ob) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x

                sine² {Inverse tan [v°/c + v*/c]/ [1 - v° v*/c²]} degrees/100 years

Approximations I  

With   v° << c and v* << c, then v° v* <<< c² and [1 - v° v*/c²] ≈ 1

Then W° (ob) ≈ (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x sine² Inverse tan [v°/c + v*/c] degrees/100 years

Approximations II  

With   v° << c and v* << c, then sine Inverse tan [v°/c + v*/c] ≈ (v° + v*)/c

W° (ob) = (-720x36526/Tdays) {[√ (1-ε²)]/ (1-ε) ²} x [(v° + v*)/c] ² degrees/100 years

This is the equation that gives the correct apsidal motion rates -----III

The circumference of an ellipse: 2πa (1 - ε²/4 + 3/16(ε²)²- --.) ≈ 2πa (1-ε²/4); R =a (1-ε²/4)

Where v (m) = √ [GM²/ (m + M) a (1-ε²/4)] 
And v (M) = √ [Gm² / (m + M) a (1-ε²/4)] 

1- Advance of Perihelion of mercury. [No spin factor] Because data are given with no spin factor

G=6.673x10^-11; M=2x 1030kg; m=.32x1024kg; ε = 0.206; T=88days

And c = 299792.458 km/sec; a = 58.2km/sec; 1-ε²/4 = 0.989391

With v° = 2meters/sec  

And v *= √ [GM/a (1-ε²/4)] = 48.14 km/sec

Calculations yields: v = v* + v° = 48.14km/sec (mercury)

And [√ (1- ε²)] (1-ε) ² = 1.552 

W" (ob) = (-720x36526x3600/T) {[√ (1-ε²)]/ (1-ε) ²} (v/c) ²

W" (ob) = (-720x36526x3600/88) x (1.552) (48.14/299792)² = 43.0”/century

This is the rate of for the advance of perihelion of planet mercury explained as "apparent" without the use of fictional forces or fictional universe of space-time confusions of physics of relativity.
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